UQOO— H H H H H H H H H @02 H H H H H H K
e o o | S S S
= N S S S S S S S S : S

o0 Egb b
V. 0 e o 7 S W e

T ™
100f- ] B
GOl o0
: : : : : : : : : 3] o
s 006 -
I ?
N N S A R 0,004}
S N e

O“@--- .0l

....... PR N A N [ S A T N N N R I )

1.05

Rati
Ratio

1—-0:90--0:0--0:0-0--6--0-20--0-0----1.0----- Feeeees FEEEEEE

5 q -+ q q
>
PR |- |- 1 ------- -9 - 0 - -9 - -9 -

&

1
L dEPSE

0 20 40 60 80 100120140 160180200 09363640 50 60 70 80 90 100
TrackingParticles Pileup

0.9

—=— DQM_mkFit_TT_baseline_6iter

—— DQM_mkFit_TT_RetrainV2_WP1_6iter

: : : S : : : : :
- ot

[PPSR SN R — ) SN A S T ——

£ C : + : g g : : : : :
o Goosp
%012 %3-03__ """"" """""" """""" """""" """"""

g.g:k
o
=

%ﬁiﬁﬁ“ﬁﬁ
B

o __________________ __________ _________________ O,Zf;:fﬁfﬁféfH'____;éjré__jf]féf} ______ Wﬁ

1 11 1111 + 1 11411 II: 1 1111111 .9 J_O_
1! : IS
o B B T O B BRI m

o O
o O
o

OSeRectéd tr

o o

o o

S O

NS
I

Ratio
=
L & P

...................................................

L 2

1.05

B 0% S5 O 0 R O 0 ) R 1eeeee- olel.. o oeellil Joloe Jo [ o . f.oele ... ...

el 5 0.95




	Contents
	Page 1


